Here, we are looking for the energy stored in the battery in terms of Joules.
We’ll convert 100 A*hr units first.

1 A is the same as 1 C/s.

Multiply that quantity by one hour, which is the same as 3600 seconds.

So our hours and seconds cancel, giving 360,000 C.

This means that the battery can move this many Coulombs through a 12V potential.

Next we’ll look at the 12V portion.

One volt is one J/C.

Multiply the converted A*hr rating by the converted voltage rating.

The C unit cancels, leaving Joules.

Now suppose the battery has to flash roadside flashers in a car.

They are active for ½ sec for every 2 sec.

We’ll draw a graph of the watts required by the flashers per unit time.

At t=0, they draw 50 W for ½ a second and then are off until t = 2. This cycle repeats many times.

Each pulse draws energy from the battery.

The rate of energy transfer is 50 W for ½ a second.

Take the product of those two quantities (which is the area under the pulse curve).

This gives 25 J per pulse.

We want to find the number of pulses that 4.32 MJ will allow.

So take the available energy and divide by the energy required per pulse.

This gives 173,000 pulses available.
Each pulse requires an effective time of 2 seconds since each cycle of pulse on + pulse off is 2 seconds long.

To find the total number of seconds that 173,000 pulses will require, multiply the number of pulses by two seconds.

This gives that we have 346,000 seconds until the battery dies.

Convert this to hours by dividing the number of seconds by 36000 sec/hr.

That gives 96 hours, or 4 days.
